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Booklet A (28 marks)

For each question from 1 to 14, four options are given. One of them is the comect answer. Make
yourdwloa(1.2,3¢r4}.$hadeyowam»efmﬁw0pﬁcalhm8ha&t

(14 % 2 marks)
1. The classification chart shows how some things can be classified according to certain
characteristics.
Materials
[ [ |
Weak
| r , _
Paper B Non-magnetic
{ |
Jron Copper
Steel Aluminium

Which of the following clearly represents letters A, B-ané-G2

A B
(1) Flexible Strong.
(2) Not flexible Magnetic
3) Strong Magnstic
(4) Strong Flexible

2. Jeremy studied and made some observations on two animals, X and Y, He recorded his
observations in the table below.

Animal X | AnimalY
[ Can the adult fly? Yes Yes
Does it lay its eggs in water? Yes No
Does the young iook like its adult? No No
Does it have a larval stage in lis life cycle? Yes Yes

Which of the foliowing pair of animals can be Animal X and Animal Y?

. Animai X Animal ¥
1) Chicken Grasshopper
(2) Mosquito Beetle
(3) Butterfly Mosquito
4 Cockroach Chicken
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3,  Natalle carried out an experiment for 3 sunny days as shown below. She placed two
identical type of planis in the boxes covered with biack paper. Sha covered the leaves of
the plant in Set-up B and placed both set-ups ina_garden.Sngp_ar_ed both plants with

the same amount of water every day.
At of the Boxes Leaves coverad with
covered black paper
with g L
" black N\
paper
~— Opening s ‘ORI
Setup A Setup B

-Aﬂeradays.mlétsmtsheomeweq;

Al the end of the expsriment Boxes Leaves covered with
covered
with s o 2
|~ black
paper ™
—— Opening . —— Opening
Set-up A Set-up B

What was tha aim of Natalie's experiment?

(1)  To find out if plants nead air to survive,

(2) To find out if planis nead water o survive,

(3)  Tofind out if plants need leaves to make food.

(4)  Tofind out if plants respond to changes around them.
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A Study the flow chart below.

Does ithave a Yes Doesithavea | Yes
definite voluma? » definite shape? » R

Start

L 4

No No

Which of the following correctly represents P, Q and R?

P Q R
1 Water vapour Coffee _Magnet
(2 Magnet Water Bock
3) Coffee Book Water vapour -
{4) Water vapour Magnet Book

5. John placed a toy car on a sheet of Material A and held a magnet under the sheet of
Material A as shown In the diagram betow.

Toy Car

Shest of
Material A~ D /
1

Magnet

The toy car moved when John moved the magnet under the sheet of Material A. What
conclusions can you make based on John's experiment?

P Material A can be made of plastic.

Q The magnet has lost Its magnetism.

R The toy car is made of magnetic material.
Q

(1) only

() PandRonly
(3) QandRonly
(49 P,QandR
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8. Which of tha following substance{s) is/are present in the plant transport system?

it

A
B
c
(8
M A
@ ¢
() B
@ A

4 The diagram-below shows the human circulatory system. The arrows, W, X Yand Z,

represent the flow of blood.
Lungs
Y X
Heart
Z i W
Other
parts <
ofthe
body

Which arrow(s) represeni(s) the iransport of blood rich in oxygen in the human

circulatory system?
{1) Xonly
{2) W and X only

) YandZonly
“4) W, YandZonly
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8. Gideon conducted an experiment to find out how much light could pass through four
different materials, P, Q, R and S. He used a light sensor connecled 1o a datalogger to

measwre the amount of light that edﬂvougheadumterial Thetablebalowslms
the amount of light that passed through each material.

Material Amount of light (fux)
P ' 500
Q 0
R 300
S 600

Based on the table abovs, which one of the following statements is true?

(1)  Materlal R allows all the light to pass through it.
(2)  Material Q does not allow any light to pass through it.

) Matesia!SallowstlmleaszarnmurtdﬂthopasgﬂrmghiL
(4)  Material P allows the most amount of light to pass through it

8, Which of the following statements about the hearl is/are true?

A The heart pumps blood to the ungs only.

B The heart stops beating whan we are tired.

Cc The heart recelves blood rich in oxygen from the fungs.
D The heart beats at the same rate when we sleep or run.

(1) Conly
(2 BandD only

{3) A BandConly
@) A.CandDonly
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10.  Rachael conducted an experiment. 4 idestical pieces of wax were attached onfo 4 rods,
A, B, G and D, made of different materials as shown in the diagram below, The rods had
mwlmmmmm.mmwwmmmdmsqmmam
a candle flame of same heat intensily at the same time.

Red A
a - & Wax
Candle flame
Rod B
1] _J
= wax
2andle flams
RodC
g )
& —— wax
Candie flame
RodD
. T L wax
Candle flame

Later, Rachael observed that all the four pieces of wax mefted at the same time.
Which of the following could Rachael conclude from this axperiment?

(1) Material of Rod A is the best conductor of heat.

(2)  Material of Rod B is the best conductor of heat.

(3)  Material of Rod C is the worst conductor of heat.
(4)  Material of Rod D is the worst conductor of heat.
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11.  The diagram below shows the cross-section of the stem of a plant. The stem of the plant
mplao%c‘luinsuda‘ a beaker of biue-coloured water for 1 day as shown below, Tube A is
coloured biue. S

Plant

Jar

Which of the following statement(s) is/are corract?

w Tube A is the food-camying tube,

X Tube B transports air to all parts of the plant.

Y Tube B is stained biue by tha blue-coloured water.

Z Tube A transporis the blue-coloured water to all parts of the plant.

() Zonly

X and Y only
(3 WandY only
(4) W.XandZonly

12.  Which of the following statement(s) about inhaled air is/are correct?

A It contalns only oxygen.
B It is usually cooler than exhaled air.
C It contains less waler vapour than exhaled air.

(1) Aonly

(2 AandB only
(3) BandConly
(4 ABandC
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13.  Read the following description of the human breathing process below.

A Air enters tha bedy through the nose:;

B Aiir leaves the body through the nose.

Cc -Blood transport carbon dioxide to the lungs.

D Air travels through the windpips and the lungs take in oxygen.

E Oxygen passes into the blood and is transperted io ofher parts of the
body

Al—= |— — — |

Arrange the description in the correct order to describe what happens when a parson
breathes in and oul.

M A—>B—>C—>D—>E
2 A—>D—>E—>C->B
@B A—>C->E—>B—>D
4 A—>E—>B—>D—>C

14, Which of the following statement(s) ls/are true of il plants?
J Only watar—carfylhg tubes can be found in the stem.

K Excess food s stored only In the fruits and rools of the plant.
L Feod-canvying tubes are found in the different parts of the plant.

(1)

2
3
)

1538

K only
L only

End of Booklet A
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Booklet B/(22 marks)

For questions 15 fo 21, write your answers in this booklet,

The number of marks available is shown in brackets [ ] at the end of each question or part
question.

15. (a) The flow chart shows the descriptions of four living things.

- I ' -
Things
L 4
Can it make its Yes Does it Y
own food? reproduce from ot A
seeds?
No
r
No Doesithave | Yes
spore bags? » B
Do es it -~
reproduce from | Yes c
spores?
No
Does it give Yes
birth? » D
() Which lstter (A, B, C or D) represents mushroom and rabbit? 1
Mushroom ;

Rabbit

(i) Based on the flowchart, whal is the difference between living things A and B?
1l

(Go on to the next page)

SCCRE
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15(b). The table below gives information about four enimals, P, @, R and S, based on some
characteristics. A tick () shows that the animal has the characteristic and a cross (%)
shows that the animal does not have thal characieristic.

Anfmals ,
Characteristics P Q R |S
Has halir on its body v = % %
Needs air, water and food v v v | 7
Breathes through moist skin % v ® ®
Has dry skin covered with scales ® ® v | =
Has six legs and 3 body segments ® = = v

(i Filinﬂieboxeswiﬂ'tonaofllﬁlettus.P,Q.Ftors,hthec!assiﬁcaﬂontable
below. Use each letier once onty.
il

Animals

I
| | 3 I

Reptiles Amphiblans Insects Mammals
T

{ii) Based on the information from the table and chart; give an example of an
animal that has the same characteristics as Animal P. {1

(Go on to the next page)

SCORE




16.  The diagrams below show the human digestive systam.

(@) . NamepartsWandX. 1

W

x
(b) What happens to the food at part Y? 1
(¢)  Where does digestion start and end in the digestive system? (1

(Go on to the next page)
SCORE
L




17.  The diagrama balow shows the life cyclss of two different organisms, A and B.

Organism A Organism B

= -
WG A
® ¥

\?' o SR

(8)  Identity the two stages, P and Q, in the life cycle of Organism A. i
P
Q:

{b) State a difference batween the young and the adult of organism B. {1}

{c) State a similarity In the life cycles of the two organisms, A and B, shown
above, ' [1]

(Go on to the next page)

SCORE
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18.  Janice wanted fo find out if the number of balteries connected to the coll of wire
would affect the strength of an-electromagnet An ron bar becomes an electromagnet
when it s placed in a coll of wire connecled to batteries. She camled out her
experiment using four arrangements, W, X, Y and Z.

battery
insulated
wire
!rr.!n bar
Arrangement Number of batteries | Number of turns of coil
of wire around fron bar |

W 4 20

X 2 30

Y 3 30

Z 4 40

(@  Whichtwo arrangements should she set up to cany out her experiment?  [1)

()  Janice placed the same number of identical paper clips below each
electromagnet to test its strength. However, Janice observed that none of the

paper clips was attracted to the electromagnets even when the batteries were
working well Explain why. 1]

{c) Janice would also like to find out if the number of coils of wire around an
electromagnet would affect the strength of the electromagnet.

Tick the variable(s) to be kept constant to ensure a fair test in this exparimem.]
[1

Number of battaries
Number of coils of wire
Size of iron bar
(Go on to the next page)
SCORE
3
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19.  Mrs Lim wanted to warm up a bottle of cold milk for her baby to drink. She placed the
bottie of cold mik in a basin of hot water. .

{a) What happened to the temperature of the cold milk and the hot water after
one minute? Explain your answer clearly. 2]

(b)  ARer Mrs Lim removed the bottle of milk from the basin of water, she left tha
bagin .of water on the table for 50 minutes. Draw a ine graph to show the
change in temperature of the hot water during the 50 minutss. 1]

Temperatura
ofwatfr (°C)

room
temperature

]
} >Time (min
50 )

{Go on to the nexi page)

SCORE
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20.  The diagram below shows a mode! of the human respiratory system.

(a) What do parts A and B represent in the human respiratory system? 1]

A

()  Explain the gaseous exchange that takes place In our lungs when we breathe

inand out. 0]
(c)  Whatis the function of the windplpe? ]
(Go on to the next page)
SCORE
. 3
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21.  Sam jogged for 30 minutes in a park. He recorded his pulse rate before he staried
Jogging to the moment he cooled down with 2 heart rale monitor. His pulse rate is
shown In the graph below.

Pulss |

==> Time tfnin)

(a}) Based on the graph above, describe how the pulse rate changes from the
beginning of Period X to the end of Period Y in the araph. (1

(i)  Explain your answer for Perod X in (a)(). et 1}

(b)  The heart muscles will contract and relax continuously, What is the purpose of
this actibn? [t

End of Booklet B SCORE
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EXAM PAPER 2017 (P5)
SCHOOL : ACS
SUBJECT : SCIENCE

TERM : CA1

Q1 Q2 Q3 Q4 Qs | as a7 | as o e
| Qi1 Qiz Q13 Qia

1 3 2 2 I
15)a)i)C ,D

i)A reproduces from seeds while B does not reproduce by seeds.
b)ijR,Q,S,P
ii)Rabbit
16)a)W: small intestine X: gullet
b)To food will be mixed with digested juices.
c)Digestion starts from the mouth and ends in the small intestine.
17)a)P :larva Q; pupa
b)The young cannot fly while the aduit can fly.

c)Both have egg stage.




18)a)X and Y.
b)The paper clips were not made of magnetic materials.
c)Number of batteries
Size of iron bar

19)a)The temperature of the cold milk will increase while the temperature of
the water will decrease. The cold milk had gained heat from the hot water and
the hot water and lost heat from the cold milk.

b) A

v

20)a)A : Windpipe B : Lungs

b)When we breath in the air, oxygen will be absorbed by the lungs, carbon
dioxide and water vapour will be given out.

c)To transport air from mouth to lungs or lungs to mouth.

21)a)i)When he jogged the heart rate will increase and when he cooled down,
the heart rate will decrease.

ii)When we run, our body will use up more blood, oxygen and digested
food, therefore the heart needs to pump faster in order for the body to have
sufficient blood.

b)The purpose is to pump blood to all parts of the body.
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